
U3(5).3 (mod 2)

blocks defect matrix

G : 1 4 8× 3
2 4 8× 3

3 = 2 4 8× 3
4 2 4× 1
5 0 1441 = χ13,0, ϕ7,0

6 0 1442 = χ13,1, ϕ7,1

7 0 1443 = χ13,2, ϕ7,2

8 = 5 0 1444 = χ14,0, ϕ8,0

9 = 7 0 1445 = χ14,1, ϕ8,1

10 = 6 0 1446 = χ14,2, ϕ8,2

3.G : 11 4 8× 2
12 4 8× 2
13 4 8× 2

14 = 11∗
15 = 13∗

blocks defect matrix

16 = 12∗
17 0 1447 = χ17+, ϕ10+

18 = 17∗
19 0 1449 = χ26,0, ϕ14,0

20 0 14410 = χ26,1, ϕ14,1

21 0 14411 = χ26,2, ϕ14,2

22 = 19∗
23 = 21∗
24 = 20∗
25 = 22 0 14415 = χ27,0, ϕ15,0

26 = 24 0 14416 = χ27,1, ϕ15,1

27 = 23 0 14417 = χ27,2, ϕ15,2

28 = 25∗
29 = 27∗
30 = 26∗

Block 1: ϕ1,0 ϕ2,0 ϕ6,0

11 = χ1,0 1 . .
201 = χ2,0 . 1 .
211 = χ3,0 1 1 .

1051 = χ8,0 1 . 1
1251 = χ9,0 1 1 1
1261 = χ10,0 2 1 1
1264 = χ11,0 2 1 1
1267 = χ12,0 2 1 1

ϕ1,0 = 11
ϕ2,0 = 201
ϕ6,0 = 1041

Block 2: ϕ1,1 ϕ2,1 ϕ6,1

12 = χ1,1 1 . .
202 = χ2,1 . 1 .
212 = χ3,1 1 1 .

1052 = χ8,1 1 . 1
1252 = χ9,1 1 1 1
1262 = χ10,1 2 1 1
1265 = χ11,1 2 1 1
1268 = χ12,1 2 1 1

ϕ1,1 = 12
ϕ2,1 = 202
ϕ6,1 = 1042



Block 3: ϕ1,2 ϕ2,2 ϕ6,2

13 = χ1,2 1 . .
203 = χ2,2 . 1 .
213 = χ3,2 1 1 .

1053 = χ8,2 1 . 1
1253 = χ9,2 1 1 1
1263 = χ10,2 2 1 1
1266 = χ11,2 2 1 1
1269 = χ12,2 2 1 1

ϕ1,2 = 13
ϕ2,2 = 203
ϕ6,2 = 1043

Block 4: ϕ3+

841 = χ4+ 1
842 = χ7,0 1
843 = χ7,1 1
844 = χ7,2 1

ϕ3+ = 841

Blocks 11, 14: ϕ9,0 ϕ13,0

214 = χ15,0 1 .
2110 = χ16,0 1 .
845 = χ20,0 . 1
1054 = χ21,0 1 1
10510 = χ22,0 1 1
12610 = χ23,0 2 1
12616 = χ24,0 2 1
12622 = χ25,0 2 1

ϕ9,0 = 211
ϕ13,0 = 842

Blocks 12, 16: ϕ9,1 ϕ13,1

215 = χ15,1 1 .
2111 = χ16,1 1 .
846 = χ20,1 . 1
1055 = χ21,1 1 1
10511 = χ22,1 1 1
12611 = χ23,1 2 1
12617 = χ24,1 2 1
12623 = χ25,1 2 1

ϕ9,1 = 212
ϕ13,1 = 843



Blocks 13, 15: ϕ9,2 ϕ13,2

216 = χ15,2 1 .
2112 = χ16,2 1 .
847 = χ20,2 . 1
1056 = χ21,2 1 1
10512 = χ22,2 1 1
12612 = χ23,2 2 1
12618 = χ24,2 2 1
12624 = χ25,2 2 1

ϕ9,2 = 213
ϕ13,2 = 844


